
Fitting Instructions - Read instructions carefully before fitting and follow them for correct use

VG312 Parcel Shelf Cover - Ford Transit High Roof 2014 onwards

SUPPLIED COMPONENTS

This FITTING INSTRUCTION is the property of VAN GUARD ACCESSORIES LTD. and must not be used for
manufacturing purposes, copied nor communicated in any way to third parties without written
permission from VAN GUARD ACCESSORIES LTD.
IN8185_A - IW - 10/12/2014

Van Guard Accessories Ltd
Fair Oak Close, Exeter Airport Business Park,

Exeter, Devon, EX5 2UL
www.van-guard.co.uk

VG312 - PAGE 1 OF 1

           Whilst every effort has been made to ensure
           our products can be safely fitted, if any product 
requires drilling in to the vehicle, we ask you to check 
that there is no possibility of causing damage when 
fitting. Make sure drilled holes do not conflict with any 
wiring, pipes, fuel tanks or spare wheels etc. Changes 
to the van sometimes occur, so it’s always good 
practice to check before drilling as we cannot except 
responsibility for any damage caused by the fitting of 
any of our products. (When drilling always wear safety 
glasses.)

* Periodically check all fixings.

* Retain instructions for future use. 

!            Please read the important notes to the left before 
           fitting this parcel shelf cover.

Step 1: Place the parcel shelf cover in position and loosely 
secure to the five threaded holes using  M6x20 hex bolts, 
M6 washers & M6 shakeproofs.

Step 2: Open the parcel shelf door and drill 3.2mm through 
the three holes along the bottom flange. Secure to the 
pillar using No8x1/2” self tap screws.

Step 3: Tighten all fixings.

1

1 2 5

# DESCRIPTION
1

2

3

4

5

  PARCEL SHELF COVER

  M6x20 HEX BOLT

  M6X20 WASHER

  M6 SHAKEPROOF

  No8x1/2” SELF TAP SCREW

1

5

5

5

3

QTY

3 4

TOOLS REQUIRED: 10mm SPANNER / RATCHET, 3.2mm DRILL BIT, DRILL, SCREW DRIVER


